
Test n𝑜12 G

Nom : . . . . . . . . . . . . . . . . . . . . . . Prénom : . . . . . . . . . . . . . . . . . . . . . .

Primitives

Compléter :

1

𝑓(𝑥) F(𝑥) I

𝑥𝑛 (𝑛 ∈ ℕ) . . . . . . . . . . . . . . . . . . .

1
𝑥𝑛 (𝑛 ∈ ℕ ∖ {1}) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

e𝑥 . . . . . . . . .

𝑎𝑥, 𝑎 ∈ . . . . . . . . . . . . . . . . . . . . .

sin(𝑥) . . . . . . . . . . . .

cos(𝑎𝑥 + 𝑏) . . . . . . . . . . . . . . . . . . . . . .

1√
1 − 𝑥2 . . . . . . . . . . . . . . . . . . . . . . .

1
1 + 𝑥2 . . . . . . . . . . . . . .

sh (𝑥) . . . . . . . . .

. . . . . . . . . . .
sh (𝑥)
ch (𝑥)

. . . .

1√
𝑥2 − 1 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1
𝑎2 − 𝑥2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . .
𝑢𝛼+1

𝛼 + 1
∀ 𝑥 ∈ I, . . . . . . . . . . .

. . . . . ln |𝑢| ∀ 𝑥 ∈ I, . . . . . . . . . .

. . . . . . . . . . . sin(𝑢)

2 Une primitive de 𝑥 ⟼ e𝑎𝑥+𝑏 est . . . . . . . . . . . . . . . . . . sur tout intervalle inclus dans . . . ..

3 Une primitive de 𝑥 ⟼ 1
𝑎𝑥 + 𝑏

est . . . . . . . . . . . . . . . . . . . . . . . . sur tout intervalle inclus dans . . . . . . . . . . . . . . .

4 ∫
1

0

1
𝑡 − i

d𝑡 =
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Test n𝑜12 D

Nom : . . . . . . . . . . . . . . . . . . . . . . Prénom : . . . . . . . . . . . . . . . . . . . . . .

Primitives

Compléter :

1

𝑓(𝑥) F(𝑥) I
1
𝑥 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1√
𝑥 . . . . . . . . . . . . . . . . . . .

𝑥𝛼, 𝛼 ∈ . . . . . . . . . . . . . . . . . . . .

ln(𝑥) . . . . . . . . . . . . . . . . . . . .
cos(𝑥) . . . . . . . . . . . . .

1 + tan2(𝑥) = 1
cos2 𝑥 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1√
𝑎2 − 𝑥2 . . . . . . . . . . . . . . . . . . . . . . . .

1
𝑎2 + 𝑥2 . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . .
1√

𝑥2 + 1 . . . . . . . . . . . . . . . . . . . . . . .

. . . .

1
1 − 𝑥2 . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . .
𝑢𝑛+1

𝑛 + 1
si 𝑛 < 0 ∶ ∀ 𝑥 ∈ I, . . . . . . . . . .

. . . . . . 2
√

𝑢 ∀ 𝑥 ∈ I, . . . . . . . . . .

. . . . . . . . . . . . . arcsin (𝑢) ∀ 𝑥 ∈ I . . . . . . . . . . . . . . . .

. . . . . . . . . . − cos(𝑢)

2 Une primitive de 𝑥 ⟼ sin(𝑎𝑥 + 𝑏) est . . . . . . . . . . . . . . . . . . . . . . . . . . . . sur tout intervalle inclus
dans . . . ..

3 Une primitive de 𝑥 ⟼ 1
(𝑎𝑥 + 𝑏)3 est . . . . . . . . . . . . . . . . . . . . . . . . . . . sur tout intervalle inclus

dans . . . . . . . . . . . . . . .

4 ∫
1

0
e(1+ i )𝑡 d𝑡 =

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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